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1. Sketch the asymptotes for the gain versus frequency plot for a system with the transfer function

_ (s+100)2
Gle)= s(s+1) °
(15pts)
2. Determine the cut-off frequency or frequencies of a system with the transfer function
10(s + 1)
G(s) = .
Bl=r7 10)(s + 500)

(15pts)

3. The frequency response of a minimum-phase, stable control system has been obtained experimentally,
and the following asymptotes have been fitted.
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(a) Determine the transfer function from the asymptotes. (20pts)
(b) Sketch approximate phase versus frequency plot of the control system. (15pts)
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. 4. The phase of a certain minimal-phase, stable feedback control system has been obtained experimentally,
and the following asymptotes were obtained.
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(a) Determine the transfer function from the asymptotes as much as possible, and leave the indeter-
minable quantities in parametric form. (20pts)

(b) Sketch approximate gain versus frequency plot assuming “reasonable” values for the missing quan-
tities. Show your assumptions clearly. (15pts)
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